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, IF & ="Y ORa$ ="y THEN GOSUB YUAN
, , IF a$ ="n ORa$ ="N THEN GOSUB YUAN
PS= 0: INPUT (Kps)'; Pas
FOR j= 1TO 3:
’ ’ ’ IF j= 1 THEN PRINT” ".:INPUT xh
PRINT” //;j; ! (mm)”; :
JYP- 24 INPUT D
’ ’ PRINT ( Vs
, INPUT N
VL]J= 0: LLJ= 0: PLJ= 0: TLJ= 0:
(1) 1 FOR i= 1TO N: V=0: 1= 0: P=0: T=0
PRINT” "oy
(L/min)" ; : INPUT 1
(2) ) PRINT” (PIT
(Kps) ; : INPUT P
PRINT " "o
(3) (C)"; :INPUT T
(4) V=132 9% 1/D/D* SQR((Pas— P)/(273+ T))
VLJ= VLJ+ V: LLJ= LLJ+ 1: PLJ= PLJ+ P:
(5) ( 40% ) TLJ= TLJ+ T
NEXT i
lius= INT( VLJ/ N* 100+ .5)/100: LLJ=
M icrosoft Quick Basic 2000- 12— 03; . 2001_ 08 28
5.0 (1962- ),
CLS
a: INPUT ? (y/n) ; a$
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LLJ/N: PLJ= PL)J/N: TLJ= TLJ/ N

PRINT” s
(L/min)’; :INPUT M1

PRINT ” ” : j;//

"

(L/min)"; :INPUT M2
TIJI= INT(ABS(M2- M1)* 1 000+ . 5)/1 000

PRI NT ” //; j;//
(mg)”;: INPUT gl
PRI NT " //; j;//

(mg)”: : INPUT g2
ZONG= INT(ABS(g2- g1) * 10 000+ . 5)/ 10 000
B: PRINT’ . NO
IF NO= 193 THEN GOTO E
IF NO= 270 THEN GOTO F
PRINT ":GOTO B
G: yanc= ZONG* (273+ TLJ)* 101.3/(K* TIJI*
(101. 3- PLJ)* 273)
liul= 118 440* MIAN* LLJ/D/D* SQR(( 101 3—
PLJ)/ (273+ TLJ))
PAIF= yanc* liul* . 000 001
yanc= INT (yanc+ . 5): lius= INT (lius* 100+ . 5)/
100: liul= INT (liul+ . 5) : PAIF= INT( PAIF* 1000+ . 5)/
1 000
IF j= 1 THEN LPRINT TSB(16);"

n-n " n-n
; 1 ; year; . ; date

IF j= 1 THEN LPRINT - - - - - - - - — — — —
IF j= 1 THEN LPRINT'| | [
| | | | |

IF j= 1 THEN LPRINT - - - - - - - - - — — —

LPRINT  USING "1# # # # | # 4 #
#HH . # | HE BB E R BEH R B
BHIBHEEHE BH BB R BB ER R
L H## |”;xh; gl; g2; lius; liul; yanc; pa

LPRINT - - - - - - - - o - o - —_

Islj= Islj+ lius: Wj= MJ+ liul: ydj= yelj+ yane: PFL]=
PFLJ+ PAIF NEXT j

LPRINT "% # # # s % % % s % % % % % % % % %
Isli= INT (Isli/3% 10+ . 5)/10:1llj= INT (1lj/3* 10+ . 5)/
10: yelj= INT(yelj/ 3* 10+ . 5)/10: PFLJ= INT(PFLJ/ 3*
1 000+ . 5)/1 000
LPRINT = = = = = = = = — — — — — — — = = — = =
LPRINT'|
LPRINT = = = = — — - - o - o — oo o - - =
LPRINT USING | # # # # # . # # # | # # # # # . # #
BIH BB HHE . HBHH FEEE R EEE

"3 Islj; 13 yelj; pflg

LPRINT - - = — = = — - — - o - o - o= =
LPRINT
KQGC
jsnd= INT(jsnd* 100+ . 5) /100
LPRINT'| |
LPRINT - - - - - - - - - o o - o -
LPRINT USING | # # | # # . # # |# # . # # |'; yang;
gexs; jsnd
LPRINT - - = = - = — - — - o - oo - o= =
INPUT (%) ; glel
ol INPUT (y/n)'; g%
IF ¢l 'Y AND gl$ 'y AND gl$ ()'N' AND gl$ ¢’
n THEN PRINT” \ y n:GOTO gl
IF gl$ ="Y OR gl$ ="y THEN GOSUB xgl
IF gl$ ="N OR gl$ ="r THEN GOSUB jgl
LPRINT” " jsndd
END
xgl: IF gld{75 THEN jsndcl= jsnd* 1.6
IF glel> = 75 AND ¢glcl{80 THEN jsndcl= jsnd* 1. 4
IF gld) = 80 AND glcl{85 THEN jsndc= jsnd* 1. 2
IF glcl> = 85 AND glcl{90 THEN jsndd= jsnd* 1. 1
IF glc> = 90 AND glcl{95 THEN jsndd= jsnd* 1. 05
IF gld) = 95 THEN jsndcl= jsnd
RETURN
jel: IF ¢lcl{75 THEN jsndcl= jsnd* 1. 3
IF gleD = 75 AND gld<80 THEN jsndcl= jsnd* 1.2
IF gle) = 80 AND gld{85 THEN jsndcl= jsnd* 1. 1
IF glel) = 85 THEN jsndd= jsnd

RETURN
FANG: INPUT (mm)”; CHAN
INPUT (mm)”; KUAN
MIAN= CHAN* KUAN* .000 001

RETURN

YUAN:INPUT” (mm)’; ZH1J

MIAN= 3. 14* ZHI1J* ZHIJ/4%* . 000 001

RETURN

KQGC: gexs= INT(21/(21- yang) * 10+ . 5) /10

jsnd= yelj* gexs/ 1. 8

RETURN

E: REM K (193)

ON INT(LLJ* 2/10- 1) GOTO 110, 115, 120, 125, 130,
135, 140, 145,150, 155, 160, 165, 170

GOTO G

F: REM K (270)

ON INT(LLJ* 2/10- 1) GOTO 210, 215, 220, 225, 230,
235, 240, 245,250,255,260, 265, 270

GOTO G



